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MODEL QUESTION 21

1. Fillin the blanks with the words from the box. Make any change if necessary.

dishonest | an time happiness | by a the of at in

Honesty is (a) — quality of speaking the truth. Honesty is (b) — great virtue. It is the road to peace and (c)
—. The man who possesses it is blessed. He is respected (d) —all and hated by none. Even a (e) — man
cannot but respect him. (f) — honest man enjoys peace (g) — mind. Though he suffers (h) — times, he
succeeds in (i) — long run and is happy. A dishonest man may succeed for the (j) — being.

a d g j
b e h
c f i

2. Fill in the blanks with suitable words.

a bride to her husband. During marriage ceremony a
guardians of the brides. The (d)

Dowry means property or money brought (a)
section of (b)

people claim much wealth or money from (c)

illiterate girls become the (e) of dowry. If the guardians fail (f) fulfill (g) demand of
bridegroom, the brides are (h) . So, the poor cannot think of marriage of their daughters. Itisa (i)___
curse. This curse can be eliminated by changing the outlook of people (j) the male members.

a d g j

b e h

(S f i
3. Make five sentences using parts of sentences from each column of the table below.

Health can ill-health cannot enjoy his life

A person having the most valuable asset of a person

A man be always fresh and jolly

We get health eating right diet and taking exercise

A healthy person be happy when he is blessed with sound health

4. Complete the following text with right form of the verbs given in the box.

be find can stumble | have endow | fix evaluate | have consult

A proverb goes that a man without an aim is a ship without a rudder. Likewise, a man without an aim (a)....
reach his goal. He (b).... in his way of life, So, every man should (c).... a definite aim. But nothing is more
difficult than the choice of profession. Students (d)..... it very difficult to choose a suitable profession.
Choosing profession becomes very difficult because there (e).... many paths and courses open to them. They
should (f) ... their aim according to the abilities they are (g) .... with. All (h) .... the same abilities and aptitude.
Students may (i).... with their teachers who are able to (j)..... their abilities.

a d g j
b e
c f i
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5. Change the narrative style of the following text:

A hawker said to me, “Do you want any newspaper? | have all types of newspapers. Please take one.” | said,
“I want a weekly magazine. Do you have any magazine?” He said, “Yes, | have a magazine named JaiJai Din”
“What is the price of it?” | asked.

6. Change the sentences according to directions.

a. The Padma is one of the biggest rivers in Bangladesh ~ (Use comparative degree).

b. When it is summer, it becomes emaciated (make simple sentence)

c. During the rainy season, it assumes a terrible shape (Make complex sentence).

d. Everybody knows this (make interrogative sentence).

e. Tourists from home and abroad visit its shore (Use passive voice)

f. They come to enjoy the beauty of the river (Make complex sentence)

g Though it is destructive in the rainy season, it looks beautiful (Make simple sentence).
h. Its beauty charms the people (Use passive voice).

i. The fisherman catch fish in the river (Make interrogative sentence).

j. It looks very beautiful (Make exclamatory sentence).

o |=h M |a|o |o|w

j
7. Complete the following sentences.

a) Heisso honest

b) They succeeded because of

c) Hardly had the doctor left

d) Read diligently lest

e) Itis high time we
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8. Complete the text adding suffixes, prefixes or the both with the root words given in the parenthesis.

Man has a/an (a) (quenchable) thirst for knowledge. He is (b) (satisfied)
with what he has known and seen. He wants to know more and more. This (c) (curious) to
know more, coupled with his (d) (conquer) spirit of adventure has inspired him to (e)
(take) and carry out difficult and dangerous tasks. It has (f) (event) resulted to epoch-
making discoveries and (g) (invent) and led him in his (h) (continue)
journey from his (i) (help) state of power and progress. In the fields of science and technology
man has many (j) (achieve)
a d g j
b e h
C f i
9. Make tag questions of these statements.
a) Fortune favors the brave, ?
b) The pious are happy, ?
c) Try to give up bad habit, ?
d) Anybody can do the work, ?
e) Some of you can speak well, ?
10. Complete the passage with suitable connectors.
Water is an important element of the environment. (a) ....... it is essential for living, it is called life. But

polluted water is harmful (b)...... it causes dangerous diseases. Polluted water causes not only diseases (c).....
death. (d).... polluted water is dangerous, illiterate people drink it. We should prevent water pollution (e).....
we may get safe and sound environment.

a c 2
d
11. Rewrite the following passage and punctuate where necessary.

jim darling don’t look at me this way i had my hair cut off and sold it because i could not have lived through
christmas without giving you a present i just had to do it said della say merry christmas jim and lets be happy
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